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Question Number : 1 Question Id : 6981774285 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the INCORRECT statement
gehre e sioar

Options:

Habitual behaviour 13 mherited

1¢Hﬁ?ﬂﬁaﬁﬁmnﬁﬁiﬁ

Habits are acquired dispositions

., GadT ATcAATT Shelol TG AT

Habitual actions are performed every time in the same way

Habitual actions are performed with great ease

. AeH=ar fRaT AlgAT Weelde Fedr Siard

Question Number : 2 Question Id : 6981774286 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
NCF 2005 has strietly prohibited board examinations at this level
NCF 2005 & a1 &RaX a3 &= Hed Hels dell 3¢

Options:

Class X only
herd Geldl

1. %

(Class XII only
2 % Pd Rl

Classes V, VIII and XI
3. o ST 9T, JTSAr 0T 3R

(Classes X and XII

4% S4dT Seldl 30T JrEr

Question Number : 3 Question Id : 6981774287 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The percentage of representation of parents and guardians in the school

management committee prescribed in the RTE Act, 2009

RTE srIgr, 2000 a2 fafga shelear anadr cgaremdsl afedered dree 3o
arerReAT Siaffecar eahar

Options :

1. %



One fourth

U Gt

Half

Two third

- alsT qdraner

Three fourth

4'¢ﬁl?f€ﬁ‘2ﬂ

Question Number : 4 Question Id : 6981774288 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Students in a primary school are found to have a very positive attitude towards

helping others. That achool can be said to have accomplished the goal of

developing this domain of students

qrerfAe e faearll Sater Hed HUARdT diddid G HFRICAS TTeehid
Aarci. faearzaid § e fashfld Feoard 3efese car A T el 3 FEUIr
e

Options:

Cognitive



Affective
EENE )

Conative

Y cellcH
3. %

Psycho-motor

4w TEIRG (TS

Question Number : 5 Question Id : 6981774289 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A person 1n his twenties has joined coaching centre for learning gvmnastics and

dropped out as he could not perform. This can be attributed to the fact that

fagrear auiclier ve sadl foiwiivesra Risvarars! Fifder dexaed ool el 3
FOT A FTATA Gl A e N e el 3. A A7 a1 e eerien

G A

Options :

(=]

the individual has crossed the critical age period for learning gymnastics

Lymﬁﬁﬁ%ﬁMMaﬂmﬂﬂﬁtﬁaﬂmm

The individual did not reach the maturation level required for learning

gymnastics

- adle fSFeitcs RIFvaadT Jaeds IR9Fadar Idar Noal «Jgl



the individual understands the guidelines for learning gymnasties

el fSiFsiitcs RIFTaarsr ARGRE dod Gdedd

The individual have a positive attitude towards gymnastics

%Wﬁﬁmﬁwww
4.

Question Number : 6 Question Id : 6981774290 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following first four stages of Erikson’s Psychosocial development in
sequence 1n ascending order

g aagEes Aeaear @i 9fgedr 9 9T 9ecdl HAk e
o

Options :
Trust vs. Mistrust; Autonomy vs. Shame and Doubt; Industry vs.

Inferiority; Initiative vs. Guilt;

faeary fasey sifavary; wardar fascy oret 3T 2wl 3T fasey
PieAvadr;, Tl faser rardaor,

Industry vs. Inferiority; Imtiative va. Guilt; Trust vs. Mistrust; Autonomy

va. Shame and Doubt;

eier fagey Sievadr, Yarhr favey saureiom; fawary faveyr sifavan;
5w AT TaeeE ST 0T 24T,

3.¢



Trust vs. Mistrust; Autonomy vs. Shame and Doubt; Imtiative vs. Gult;
Industry vs. Inferiority

faeary faeqy 3ifavary; Tradar [aecy drst AT AT, Jerhr fasgy
STIRfTaUT; 3eART fa%ey Ffersaar

Industry vs. Inferiority; Initiative vs. Guilt; Autonomy vs. Shame and
Doubt; Trust va. Mistrust.
3enT fasey Ffivedr; eraR sy srRmEion; FErmdar fasey e 3for

4w e, Taeary faseer 3ffaean.

Question Number : 7 Question Id : 6981774291 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT statement relating to self learning
Ta-ferefonell gafed g faurs sioar
Options:

self learning helps in learning at one’s own pace

o e g ade Rievare #eg Fid

1. %

self learning helps 1n strengthening the learning skills of the individual

w-enHe sgadie Rievard wined gode glvaE Aed gid

self learning helps in setting goals of one's choice

- T Rietor vacarear 3eER 3 [ftaa swaa Aga Fa

4.+



self learning can only take place in formal educational set up

TATRIEToT Shaw Jitgariie eifties Je3rgaadT giF a6ha

Question Number : 8 Question Id : 6981774292 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One of the following is NOT an attribute of good facilitator in classroom
@reflerd<hl Tt Falicd TETeAr JITer SOTRT 0T =TT
Options :

analytical thinking

Hgﬁx’-ﬁwﬂawﬁﬂw

knowledgeable

SATUTh[L
2. %

use of little or no dialogue

3. AT Tohar faar HagmEr arw

ability to bring people together

4wﬂ1EFiFITW31TU[U'-ﬂ1ﬂTﬂﬂq?IT

Question Number : 9 Question Id : 6981774293 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Language 1s not purely learnt by accident or conditioning and much of 1t 1s
biological and species-specific, according to

TR, AT OOl 9Tl fohar $iSericeean féisel SiTd Argr 3ior cardier
afimell Siigsh 3T Jellcr-faferse g

Options :

Noam Chomsky

1.%?"]_—“”

Sigmund Freud

fgad= wrrE
2_33

John Dewey

3. %

Lev Vygotsky

4.33%

Question Number : 10 Question Id : 6981774294 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

For ability grouping of students a teacher should consider
facaredi=ar e Har el Rerws faar Ser gifger
Options:

gender

1.331%:[;IT



individual differences

5  ddiFdh B

roll numbers

- GG EL

physical characters

Hifds aor
4. %

Question Number : 11 Question Id : 6981774295 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Shwetha has learned about the Mughal dynasty and then of Sultannate

dynasties. In the exam she could not answer a question on Mughal dynasty as

her learning of Sultannate dynasty was interfering. The type forgetting here is

eddl Hee Tetael 0T At Ferdel Tstaeliaegel SV Hoel 3g. qlaid fdel

HeEre EUATadiel R 30 ol 3ol AT HROT foedr Feldler qerear fAwuard

3R A gl 39 O IR g

Options :
Proactive inhibition

gferT gidaer

1. %

Repression

- e HIF]

3. %



Disuse

GRETIE]

Retroactive inhibition

e St

4, &

Question Number : 12 Question Id : 6981774296 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A student who knows to play piano has learnt to play keyboard quickly. The

transfer of learning here 1s

T9a1ell arsfardel ST facarediel Yo dldls drsidren el 3. J9
RIFUART gEdicoT g

Options :

Negative

elh[{cH

Bilateral

HAERLAIE]

Positive



Question Number : 13 Question Id : 6981774297 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Disconnection of Stimulus Response association is

Feeaer REdlew 3T SrhaaereT g
Options :

Extinction

ERIEGH

Generalization

GATATR 0T

Diserimination

Aeaa

Spontaneous recovery

3cERd JARICAr

Question Number : 14 Question Id : 6981774298 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Identical twins Ram and Shyam differ a lot in their academic achievement. This

can be explained by this principle
TH 30T A @ S Hel gl deiivis dAEld @y e smed. § oA
deale@n TS &l o3 A

Options :

Development is predictable

faepTaTar 3igTel YUdedl Sii3 hdl

1. %

Development 1s spiral and not linear

- fasrra afder g 30T TR A

Development proceeds from general to specific responses

- faerr g o [Afese giaggis:s aar

Development 1s a joint product of both heredity and environment

farr & 3T fRIar 30T 9ATER0T a1 alegrd §49d 3cdice 3Tg
4.

Question Number : 15 Question Id : 6981774299 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The concept of “private speech’ was put forward by

@Il ANOT §1 HehodsTl @il AISUATT 31Tel

Options:

Bandura

1.8 2



Lev Vygotsky

2. ¥ cieg

Piaget

3.$3EI'I'€EE'

Chomsky

RGeS
4, %

Question Number : 16 Question Id : 6981774300 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Thorndike’s this law of learning indicates the physical and mental development

of an individual to learn a subject

lsisrsehdl g RISvamEr dad vaEcar sgadar favy Risvararer adfiis 3o
HATGS 9 griadr.

Options :

Law of Readiness

AT HIRIGT

1. %

Law of Effect

EIT IR BRI ]
2. %

Law of Exercise

<AIATATT shldgl
3. %



Trial and Error

eI )
4. %

Question Number : 17 Question Id : 6981774301 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
ICT helps

IAHET A L

Options:

mn equal learning among learners irrespective of their individual
differences

rerruTie cOiear dafede Il 9aT & HIal G [PEong

in learning for disabled students only

hded 39T TaeT2araréT f2mor

mn self-paced learning

TaI-J9a femToa

in learning of high IQ students only

ddo 34 1Q Tacgredi=ar Rieoma

Question Number : 18 Question Id : 6981774302 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In this type of schools. scope for diversity 1z more
AT JHRAT Mo afdeden aT 31 smEdr
Options :

special

fereiy

inclusive

AgHAdRIS

school meant for specific communities

faferse FaerETST 2Mat

gender specific schools

folar fafeise enar

Question Number : 19 Question Id : 6981774303 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Teachers should consider teaching as a/an
TRIETeRiell 3TEATYTell HHSE

Options :

one time training

Ush dop 9IRIETor

1. %



one way communication

2. % -

art acquired from birth, nothing to do with learning

- STeHTIReT [Acdetell @ell, RIsuarel FIggr deer el

profession which requires continuous learning

4w U SIS Tdd RS0l Haas g

Question Number : 20 Question Id : 6981774304 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Subject centred paradigm of organising learning can be more appropriate for

this level

fRIeToId 3imalerel Yvarar g Sald @1 A1 FAEre! e AT 3y Ahd!
Options :

Pre—zchool

- qa-2aT

Elementary

2. x WF

Secondary

AreafAs
3. 3



Senior secondary

3= ATEOTHS
4.

Question Number : 21 Question Id : 6981774305 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Identify the correct statement

e st Aear

Options :

one can have physical health without emotional health

Aafsd IREARER MRF JIRET 37, ahd

one can have a sound mental health without physical health

AR ARG AEF R =0T 314, T

to be healthy, individuals should have physical, mental, social and

emotional health as they are interdependent

el TguarTer, Sadid RIS, HAS, AHETes 10T ddiks IR
YU HALAF 3¢ HROT o ThAHal Hdeldsl g

emotional health depends only on physical health

, w FEEE T Fad AARE SFRAET e I

Question Number : 22 Question Id : 6981774306 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Identify the correct statement in promoting democracy at school

Mvd TIhARIT TAR FHIoATarer a7y faensr sitesar
Options:

in taking the decisions by the school authorities, voices of the children

must be heard

1J&naﬁar31‘fﬂzm' feofar ST #eli #a oRild Saa aifgr

mn taking the decisions by the school authorities, the voices of the

academically meritorious children must be heard

e Jfeiepricl fioiar g, detiviresear uEd Helid Ad ofalid Hdel
2. % g

authorities of the school can take decizions on their own as they are well

educated

M P FhRGIT 38 d Td: [0 83 eehdid

head of the institution and teachers can take decizsions as they are trained

4w GEIT gAE 30T e gRIfET sEede @ Ui 95 ehda

Question Number : 23 Question Id : 6981774307 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Identify the INCORRECT statement with regard to the emotional development

st e g @ stear

Options:



1t depends upon the experiences of an individual

- & TEIer ShFcedl JefHaiay Jdcidet d

1t 18 an outcome of interaction between heredity and environment

. BT 3T RISl 0T GAaoT Aredlcilel TREIIHaIGar IO 377
2.

it takes place automatically as per their age as it is totally dependent on

genetic factor

d Tl SERER 33T 950 FROT d qOI90T Jedifeih geehal Jacidd
3.¢

1t 12 influenced by the socio-economic. cultural and educational factors

" A1t AIATTF-311T%, Hikpides 10T AATUF gehi=n 984 g9sdr

Question Number : 24 Question Id : 6981774308 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Good teacher iz one who

Tiaren fRRTs dar 3tar S
Options :

tallss continuously providing information

., add #Tfed & Tgar

1.

transacts only textbook material and malke the children by-heart it

- e MSTYEdHdl Fgedrd FEAALT HIAl AT HeliaAT 916 HIaal



malkes the students get good marks by conducting practice tests

- g argoar 83e fae@reaier e AT [Aoae oo

ensures the quality learning of the students

4J%ﬂc@ﬂﬂﬁﬂmaﬂﬁn‘rfﬂmwﬁﬁﬁaﬂ?ﬁ

Question Number : 25 Question Id : 6981774309 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

One of the following helps the teacher in understanding the learners

@refterdehl Ueh fRIaTerrell RISV G HUaE #Aed #ld
Options :

both intra and inter individual differences of learners

intra individual differences are adequate

mter individual differences are adequate

3R dAFas B T Ied

neither intra nor inter individual differences are required



Question Number : 26 Question Id : 6981774310 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

From among the following. identify that 1 acquired by birth

leileldehl, JeA Hodelel Jled@r
Options :

attitude

Eoil

1.% ~

aptitude

eI

Interest

JHids

habits

Question Number : 27 Question Id : 6981774311 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Personality 1z dynamic
cafeasca aifa=ler srd

Options :

1.+



1 all children

qd e

only in out of school children

el 2MaBIATEd Hellded

only in school going children

- TeFd MDA SATOMAT FeAFe

only in merit children

$de AVIEdd el HeliHed
4, %

Question Number : 28 Question Id : 6981774312 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A method that iz useful to understand oneself based on one's own experiences

T AT FHAial 3R Tad:ol THo HUdramel 3Tged el geerd
Options :

Experimental

qra TR

1. %

Case Study

&g TS
2. %



Introspection

HcH eI I&TOT
3.¢

Observation

o regor
4, ®

Question Number : 29 Question Id : 6981774313 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Among the following, one of the following 18 NOT a purpose for conducting

evaluation of Class VII children

@reflerdel, 3TaT HIAATeAT Helid Heg#Tde HIUARTS! Wellerdshl Teh 3ee2l TGl
Options:

suggesting the students to drop out from school as they do not have

required abilities to continue further studies

faeareaie qérel 33arg & SAUAEIS! 3aedeh &TAdl AHAHD il DT

HISUATE Foar 00
1.

giving feedback for overall development of the students

facarezi=ar gatefior [aeramad! W Gor

revealing the aptitude to the students to choose future studies

Tacreier sfasardier 3131y Hasvar Jegdn geiaor



making the students understand about their interests

facrzaier carear Jasdegel sl Hol

Question Number : 30 Question Id : 6981774314 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In SQ4R technique of learning and memory. 1dentify that 1s NOT the part
of 4R’s.
RIevarear T TRoREd=ar SQ4R d9d, 4R 91 #9416 AT § Ao

Options:
Repeat

gl T
1.+ 7

Read

Beflect
giafefEa &
“

Review

EENERICT]

¥

Language I Marathi



SectionId : 698177136
Section Number : 2

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 22
Number of Questions to be attempted : 22

Section Marks : 30

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 698177220
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Id : 6981774315 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (31 to 35)

Question Label : Comprehension



g2l Al 31 o 35 € I @rell feeledr Siddear R 39y 92 fdage foign:

AT I fwer wuE
ARE Fif e A
Silgelld Hehe 3fTel FEU
god F=i1 giF

<A el WA RE
I T Aell i3t
TR IR Jehgam
"I G HIofl HI0Tel
SfiaeT HeT 39T Ioarad
ST Il 3T 3T

X ORI Tl AR RO
STl 9l 3l e
ATgT foer AR 3T
3t 3R Hell ereet
Tl eRdl §@ dIc...

Sub questions

Question Number : 31 Question Id : 6981774316 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
el Saald Hehe Adid cAidayd 90T i HUAel gd hdlell dled?

Options :

|, 35 T e 2 s e

garel, HAdaadasr giF a4
2. ¥

, QMWQM



Question Number : 32 Question Id : 6981774317 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
FATeAT A 196l Sidel Hed FHIVT deid Aehcll?

Options :

GaTay 3Teloll 39el AGel

1. #

zwmaﬂmﬁﬁmmmmwﬁm

“ 3TYUT 9T AdRIeAd edal

Question Number : 33 Question Id : 6981774318 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
T STl AR R AT Hididedl I LrsgrET e

Options :

ISOTET AT AT FIIEr

1. %



kﬁgmﬂm’ei’rrﬂ’rs:zrl‘]'s’:-l‘]?»rl?ﬁ'r

faeeT shrear 9 earEr

carearlt gl gld F6a Wi HUTd

Question Number : 34 Question Id : 6981774319 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
9ol HANT 2T FFTem gar

Options :

T YT o FHLOTT

1. %

2_%5

FIATIET HIOfIET 9¢ STar He a4
3. %

d SETouT 3R @Ta

Question Number : 35 Question Id : 6981774320 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
AT FHAET T FAT 31?

Options:

1.% Hd FR
ferremardy
TRITETCT
PR TFd

Sub-Section Number : 2
Sub-Section Id : 698177221
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Id : 6981774321 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (36 to 40)

Question Label : Comprehension



e FAh 36 d 40 o At @rell [eledn araredr MR Aeg Y fase o

T9 4T 30T e, TG AL AN o Ul facame g, FROT dT- e,
Hiel ey AT T SR G §9T el o HAd AR, e T 30d. O e oS
QFhd. TS TG o 3M9ear faeiifid St svardt eeRdT 3id. aid a1 FAdeledr
el A3, Hel, AU 37 ACHY T Aehalld. 0T facaredt oo 1F o THATT 3R e
Hg &1 S PTG U THCAIRGE T @3 U aAlgl. A0 rdT 3edren Feir dor
a1 91 dred Al JO7 STEerar 99 @9 $% qadal &A1 gid ord. eid teadgr dAr
Bid A, aedlr & 9o 3ga. o F o fhEe g 3mwer wft Fane giF Il emeadr
A, W GO T T S A R & aud. i eged o el
FHHY @ eI, IR J0Tel Feel care geelt gid S, el s def 4.
U, facameT §d OeAEd A%G @ A O Hiedel el 3l

Sub questions

Question Number : 36 Question Id : 6981774322 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
FHGCIAT GeATd IUThIOT dlchdl gid AFhd?

Options :

T HIOT ole=
1, % 3
- maﬁﬁﬁﬂmﬂw

3.v£ﬂﬁﬂ,3¢ﬁ?3ﬂﬁ1‘m

4ﬁmaaﬁaiﬁwaﬁaa?



Question Number : 37 Question Id : 6981774323 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

facaedr o @ Feary F gra?

Options :

Jmfﬁfﬁﬁﬁm.

1.%

- SIhT =Tl IS Algl

, o ST HE R AT

@ U AR i

4,

Question Number : 38 Question Id : 6981774324 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
ST 0T &l 3r8a?

Options :

- dqr 3nfoT Uead Ave goarT sfid

, 5 I WA €S qsvArdt sficll Gie A, e s

L 5 ST FET FH @ FALT FET I AG FARvAT shich



R, ofced HI aUT Tl af EIRRET o 39l faeiilid AT uardl

Question Number : 39 Question Id : 6981774325 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
T U=THEd A6 e HIuTd?

Options :

9 U FHrdr AFEGr A g

1. %

, . OGEEd A & ATS 3e

[ FTEROT 30T fadehae
3. %

Jﬂéﬂﬂmﬁ‘&ﬁ@m%m

4. %

Question Number : 40 Question Id : 6981774326 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
AT AT i a3,

Options :

i a4
1.+



, I 37TOT FIE

erfeierret ofichr
4. %
Sub-Section Number : 3
Sub-Section Id : 698177222
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 41 Question Id : 6981774327 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

aRher, Siig AARET faEATHRS FATT —— T Yger Hodl.

Options :



Question Number : 42 Question Id : 6981774328 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
— @ FIeAYPN SHsiIcel ATSIA el 3Te.
Options:

STl

Question Number : 43 Question Id : 6981774329 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T AT ecTar FAEAT Afclelm g A foAasT.

Options :

elefadl



Question Number : 44 Question Id : 6981774330 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
‘g gl 9uT — 371E.

Options :

acd

Question Number : 45 Question Id : 6981774331 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
dl T arstdd. a7 areFaTciel 9AleT FHIvTar?
Options :

1.



Question Number : 46 Question Id : 6981774332 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
N&TT0Th HeTATIA FiehdaT g Fgurel ——

Options :

. SoRscil g e ey o ool

. facareaiar qeifvier Fegara o
5

- faearei=r U ST ga=ar Sadd Jredor

n Stetfuleh 3cigse oXiaur

Question Number : 47 Question Id : 6981774333 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
foATETT=T |Ear A FEUIATHIST 0Tl T2l Yeudl 39gad ol

Options :

Oaral Jaarg

Question Number : 48 Question Id : 6981774334 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
galicitel TUNOT 3ifelsh Yeirdl gIUTars! feateriell Jalel HI0TCT se HTEr?
Options :

Jaﬁamﬁﬂwmgﬂﬂwm
1.9

- faearei=r AgHr T g dard

. facarezi=m gAgeT rdr

3.



. T oy fered TaardT

Question Number : 49 Question Id : 6981774335 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
JTERT ardeld Alciel SHIUTT 3TSE 3G Aehcl ATgI?

Options :

&de U ITUR FEUE ardor
1.

- elegTe el 30T TIse ITURUT

ARGy o7 ogs1 araor

3.

HrdTelshel drdor

Question Number : 50 Question Id : 6981774336 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
qIaqEdd ARSI deh AsEEed —— Al il eaddar JAEY
STHAT gTiga.

Options :

GHTSTTEAT

1_%5



I AT

Question Number : 51 Question Id : 6981774337 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

SR 398 997 g 398 & {9 HIomdr?

Options :

Td ARG

1. #

qd s

2. %

ad AHGa

Hd UsheArel

Question Number : 52 Question Id : 6981774338 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
AHSTS S’ § s, Il RIcTel@rd 3Mgd?

Options:

Question Number : 53 Question Id : 6981774339 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
HerEadredr afsdrd A F ?

Options:



Question Number : 54 Question Id : 6981774340 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
'Oig-aT 9IATET AT ol Asgrar 37T Fgurel ——

Options:

Question Number : 55 Question Id : 6981774341 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Options :
- gfgel a=ig 92T

Zwmﬂﬁﬁﬂﬁ



RIareiT #gR=

TSARH AGRIS

Question Number : 56 Question Id : 6981774342 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Options :

dTclehdl

1. #

Igis feads

2. %

HIEd Jﬂaiﬁﬂﬂ

MET.H.EM?F{

Question Number : 57 Question Id : 6981774343 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

HATS AIHEET Ao, fhoeh ae, IR §3, ASdge,
o. FAcsr deare g A Fiofr g 2

Options :



AT FOUT Flegea

TH 0T ASHY

Mfde geoied cad

FEUTGT TR MSciahl

Question Number : 58 Question Id : 6981774344 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
darg, @il 9F, °Er § Aeg 0T AN FHUSIA 3elel 3gd ?

Options :

1 % PR

Question Number : 59 Question Id : 6981774345 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
EIEE L C I ol = = —

Options:

1J@ﬁ%wm@mwwmam

, ﬁaﬁqﬁaﬂmﬁmmﬁ

I Qiardiel ATNg aradel ST 2sC
3. % 2

TR AT JTelell 20eg
4. ®

Question Number : 60 Question Id : 6981774346 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
¢, 3, 8 G @ el —— 3Hclell HADGIL FgoTdid

Options :
—
1. %

s

AL §3



4. %

Language II English
SectionId: 698177137
Section Number : 3
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 26
Number of Questions to be attempted : 26
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 698177223
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Id : 6981774347 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (61 to 65)

Question Label : Comprehension



Read the following passage and answer the questions from 61-65. Choose the
correct option for each question.

One cannot forget the joyfulness of one’s childhood. Childhood is the stage of our
life in which the smallest of things gives immense pleasure. Clildren often do not feel
happy with costly things if 1t does not arouse any curiosity i them. If we remember our
childhood days. we can say. we were happy with things which we could collect on our
own, be it a piece of copper wire or a pebble or some caps of bottles. We were often
ready to play with our friends without knowing that we were learing a lot through those
plays, toys and games.

Now, that beautiful phase of our lives which we have walked past comes before
us when we observe our children as a teacher or a parent/guardian or a caregiver. As we
did 1 our childhood. our children also love to create boats and aeroplanes from paper.
They like to take rides on a tricycle. enjoy splashing water. try to catch soap bubbles,
love the company of pets, play with colourful toys. and get engaged with board games
and electronic games for hours.

Sub questions

Question Number : 61 Question Id : 6981774348 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The following one 1s NOT mentioned in the passage.
Options :

piece of copper wire
a pebble

2. %

a smart phone

4 % CAPS of bottles



Question Number : 62 Question Id : 6981774349 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

*That beautiful phase of our lives which we have walked past comes before us...".

The beautiful phase refers to
Options :

1 & childhood

5 % adulthood

P acher life

parenthood
%

Question Number : 63 Question Id : 6981774350 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Children often do not feel happy with costly things because

Options:

they are very costly.

they do not spark any curiosity.

they are bought by the parents .



they spark curiosity.

Question Number : 64 Question Id : 6981774351 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The smallest of things gives immense pleasure. Pick the meaning of the word “immense’.
Options :

1 = lttle

uny
. u p L

tiny
3. %

huge

Question Number : 65 Question Id : 6981774352 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As per the passage the following statement is correct.
Options :

Adults like to take rides on a tricycle.
1. %

We were eager to play with our friends, knowing that we were learning a lot from

5> % those games, toys. and plays.



Children are fond of making boats and aeroplanes out of paper.

“ Children often feel happy with the costly things.

Sub-Section Number : 2
Sub-Section Id : 698177224
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 66 Question Id : 6981774353 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

We had many apples to carry.

Complete the sentence with correct option.
Options :

1.« oo

5 % 10

Question Number : 67 Question Id : 6981774354 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
We can reject the unscientific and unethical nature of customs and traditions.
Choose the opposite meamng of the word ‘reject.”

Options :

| % Oppose

5 % disown

3 % challenge

accept
4. &

Question Number : 68 Question Id : 6981774355 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the part that contains an error in the sentence.

Most of the house in the village are verv well planned.
A B B D

Options :



Question Number : 69 Question Id : 6981774356 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

We should to the next item on the list.

Choose the correct option to complete the sentence.
Options :

Move Ofl

mowve to

, move of

move by
4, %

Question Number : 70 Question Id : 6981774357 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the option that best expresses the meaning of the idiom *Call 1t a day’.
Options:

Celebrate the day.



Get out of control.

3 ! Iy patience has run out.
E

Stop working on something.

Question Number : 71 Question Id : 6981774358 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose the correctly spelt word.
Options:

acknowledjment

akenowledgment

acknowledgement

acknowledgmint

Question Number : 72 Question Id : 6981774359 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The Marina Beach i1s beach in India.

Choose the correct option to complete the sentence.
Options :

1% a longest

5 % an longest

3 % longest

the longest
4. g

Question Number : 73 Question Id : 6981774360 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

We should how to say ‘No’ without hurting others.

Fill 1n the blank with the appropriate word.
Options :

1 ® DOW

5> know

3 % 1o

knew
4, %



Question Number : 74 Question Id : 6981774361 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Pick the correct sentence.
Options :

It 15 an beautiful flower.

My mother was a teacher.

Children need an lot of sleep.
3. %

I need a umbrella.

Question Number : 75 Question Id : 6981774362 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The violin 15 being played by Radhika.

Select the active voice sentence.

Options :

Radhika playing the violin.
1. %

Radhika has been playing the violin.
2. %

Radhika 1s playing the violin.



Radhika was playing the violin.
4, %

Question Number : 76 Question Id : 6981774363 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Shravan said, ‘I want this mobile phone.’

Choose the sentence 1n indirect speech.
Options :

Shravan said that he wanted that mobile phone.
1.9

Shravan said that I wanted that mobile phone.
2 %

. Shravan said that he has wanted that mobile phone.
3. %

Shravan said that he had wanted that mobile phone.

Question Number : 77 Question Id : 6981774364 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

This 1s the same lorry ran into the roadside shop yesterday.

Fill in the blank with the appropriate option.

Options:



what

2 that

this
e

4 % Who

Question Number : 78 Question Id : 6981774365 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

My friend prefers coifee tea.

Fill in the blank with the appropriate option.
Options :

1 % from
than
W

1o

between

Question Number : 79 Question Id : 6981774366 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the correctly punctuated sentence.
Options :

The weather this Winter, has been windy. wet. and unpredictable.

The weather, This winter has been windy, wet. and unpredictable.

3 % The weather this winter has been, windy, wet, and, Unpredictable.

v The weather this winter has been windy. wet and unpredictable.
4, %

Question Number : 80 Question Id : 6981774367 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Whatever he says has so truth.
Pick the suitable word to fill in the blank.
Options :

more

1. %

5 much

manny

maost
4. ®



Question Number : 81 Question Id : 6981774368 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The train was thirty minutes

Fill in the blank with correct option.

Options :

lately

5 % latter

3 ¢ late

latest

Question Number : 82 Question Id : 6981774369 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The work must be finished Friday.

Pick the suitable option to fill in the blank.
Options:

bv
1.4 ~

from



bye

i

Question Number : 83 Question Id : 6981774370 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

This art craft 1s by the students.

Pick the suitable option to fill in the blank.
Options :

made
1. ¢

malke
2 %

makes
3 %

making

Question Number : 84 Question Id : 6981774371 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



“Is 1t okay 1f I use your computer for a minute?”

This sentence mndicates

Options :

oranting pPernuission.

ordering.

asking for permission.

refusing permission.

Question Number : 85 Question Id : 6981774372 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
‘My English World’ 1s the title of

Options :

. English handbook for teachers.

., Programme designed for the children.

English text books of primary level.

. English online course for the teachers.



Question Number : 86 Question Id : 6981774373 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

‘LAD’ stands for

Options :

Language Acquisition Device,

Learning Acquisition Device.
2. %

Language Auto correction Device.
3. %

Last Accuracy Device.
4. ®

Question Number : 87 Question Id : 6981774374 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify a discourse and assign a task to construct 1t. This task 1s part of

Options :
Silent Reading.

1. %

Pre-Reading.
2. %

Post-Reading.
3.¢



Extensive Reading.
4, % -

Question Number : 88 Question Id : 6981774375 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The following is a feature of ‘Student Centred Learning.’
Options :

Teacher is not a co-learner along with students.
1. %

Student learns in 1solation. not in groups.

Student’s participation in all the learning activities will be encouraged.

Assessment is done only by teachers.
4. %

Question Number : 89 Question Id : 6981774376 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The following is known as ‘Magnacarta’ of Indian education during British rule.

Options :

“ Hunter Commission

Wood’s Despatch
2. ¢



Sadler Comumission

Raleigh Commission

Question Number : 90 Question Id : 6981774377 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The following 1s NOT a tool of formative assessment in English at Primary School level
in Telangana State Board.

Options :

Observation

Project work

2.

Slip test
3.

Experiments
4, &

Mathematics

Section Id : 698177138
Section Number : 4

Section type : Online



Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

Question Number : 91 Question Id : 6981774378 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Ramana started watching cricket match at 9.30am in the morning. He watched

TV for 220 minutes. He stopped watching TV at

mmwaﬁrgaﬂmﬁﬁfﬁﬂq@m.mﬁzzﬂﬁﬁ%mm.mﬁ

Options :

1.50pm

1. #

12.10pm
2 %

1.10pm
3. %

4w 12.50pm

Mandatory
30
30
30

Yes

0

1
698177225
Yes

null



Question Number : 92 Question Id : 6981774379 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The number of three digit numbers having the same digit in the units and

hundreds place 1s:
T 0T erdd fowmll T 316 3iTeledr did 3 TEadl dE&n 3e:
Options :

9

1. %

90

180

60

Question Number : 93 Question Id : 6981774380 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Difference of the greatest and smallest five digit numbers formed by

digits 3.0, 5.2, 8 is

3.0, 5,2, 8 3t SeAdeiedr FaTd AGAT 0T Fald og 91 3 TEae
& e,

Options:

64962
1. ¢



64038
%

Question Number : 94 Question Id : 6981774381 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ravi's age is 9 years. His father’s age is thrice his age. The ratio of Rawvi’'s age to
his father's age after 3 years 1s

W a7 & ¥ 31y, cArer afsdid 9O caedr aaredr fdwde g, [ ad o
afseli 3 asiece ag I ulad 38

Options:

Question Number : 95 Question Id : 6981774382 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Satish wants to plant trees to cover his square field completely, then the number

of plants required are

Hlrerell crer dishiell &1 qUIY0T SRUATAIST 3Ts darr! 3ied, a¥ fadt Jarr
T AT A

Options :

360

193

464

Question Number : 96 Question Id : 6981774383 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Leap year among the following is

@l &g ad g

Options :



2012

2002

Question Number : 97 Question Id : 6981774384 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The next number in the series 4, 8. 24, 96, ______1is
4,8,24,96, _____ HAlfeldclel Gérel SR 3Tg
Options :

144

1. %

288

o 192

480

Question Number : 98 Question Id : 6981774385 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The difference between place value of 3 1n numbers 43.26 and 4.03 1s

43.26 30T 4.03 7 3 AT FAT Hedwdel HF e
Options :

2.97

-
[~
(%]

iy

o )

Question Number : 99 Question Id : 6981774386 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The HCF of 8, 56 and 60 is
8. 56 HIfUT 60 a1 HAE 3¢

Options:



Question Number : 100 Question Id : 6981774387 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following numbers will not divide 312792 exactly?

@rcirerd<hr 1ot JEar 312792 o ddidd HE0I A8r?
Options :

6

1. %

L]

Question Number : 101 Question Id : 6981774388 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Anil's school is 670 meters from his house. One day he left home and walked
215 meters. Then he realized that he had forgotten his science notebook. He
went back to home, collected the notebook and went back to school. The
distance travelled (in meters) by Aml on that day for going to school
altogether 1s

sifeierel AT cgredT gU9Es 670 Hie HaUe 36, U fGaRl df = dise
215 #HieX dreld el degl A<l ollid 3HTel &l dl 39ell faaAm=rd agl aaer
Mg, o 98 T Aem, agT M1 e 00T W W Aen. ot carcash
oMbl SATUATATS! shelel 3ia (Hieed) 38

Options :

| % 885

430

1315
®

1100

Question Number : 102 Question Id : 6981774389 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



It 18 a four-digit number. The digit in thousands place 1s largest single digit.
The digit in the ones place 1s smallest natural number. Sum of even prime and
smallest odd prime 1s in the hundreds place and even prime number 1s in tens

place. The number 1s

Bl AR 3P T 301g. g TRl 3rEeien 3e g Jatd Alel Uhd 3 3.
U TSRO ITeieT 3iF @ Gdid olge Sdie 9E g, 99 fausg i
geid ogl faws sfaurey gl afer deer fwmtt 3ng nfor w7 sifauey e

ggrear fowmfr 38, g g

Options :

Question Number : 103 Question Id : 6981774390 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
10000kg expressed in quintal as:
10000 T3 fFdeas e YA 89 d &l 3T

Options :

1‘?,100



Question Number : 104 Question Id : 6981774391 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

100 Iiters of milk 1s packed into 250 ml packets. The number of packets made
is:

100 fefeT ger 250 el deheaed de shel ST, TN sheledl Yehead] TEAT 3E:

Options :

Question Number : 105 Question Id : 6981774392 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The number of factors of 18 are:
18 =T Hehdr ST g

Options :

4

[~

Question Number : 106 Question Id : 6981774393 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The product of two fractions 1s 6. If one of them 1s 5=, the other fraction 15
P 3

Gl Ul AT JOMFR 6 3. S AN U S5— 3/d o Gall 370l

Options:
2
1.8 10
B
18
2. %



17

Question Number : 107 Question Id : 6981774394 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

An angle more than 0° and less than 90° 1s called as
0° &t SfEd HIUT 90° &7 &l histlel FgoTdId
Options :

Obtuse angle
| fORITel Pl

Acute angle

g T

Right angle

 FIchl
3_%-5

Reflex angle
y TORlFE el

Question Number : 108 Question Id : 6981774395 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Y324 =
Options :

18

Question Number : 109 Question Id : 6981774396 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
5% of 60 1s
60 T 5% 318

Options:

12

’I_bé

30

Lad



Question Number : 110 Question Id : 6981774397 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The angles of a triangle are in the ratio 3:4:5. The largest angle of this

triangle s

RO #leT 3:4:5 AT UM 3gd. AT FHHiomar Fdia Ao i 3

Options :

Question Number : 111 Question Id : 6981774398 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
A speed 20 m /zec 1z expressed in km /hr as:

20 FHfGhg 1ar Fheli/a = gRifaer aa:



Options :

1.4

60

Question Number : 112 Question Id : 6981774399 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The value of p, 1f 0.5p = 0.065 1=
ST 0.5p = 0.065 3/8el @ p I Hed

Options:

13

1. #

0.013

0.13



Question Number : 113 Question Id : 6981774400 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The total surface area of a cube 15 54 sq.cm. Then, the measure of its each edge

(in em ) 1s:
HeATd UhUT GSGHRIY &b 54 Th8AL . oF, curedr Yede diord A (Fet
qe3) 3

Options :

T2

L

Question Number : 114 Question Id : 6981774401 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The arithmetic mean of first five composite numbers is:

gfgedr 9rg HiFEA HEIES! AHA0AT SUEd Hig:

Options :



Question Number : 115 Question Id : 6981774402 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

“A student applied the knowledge of ratio and proportion in understanding the

concepts of time & work and time & distance”, then the academic standard

attained by the student 1s:

‘facgraa 9@ 0T F4 30 9@ AT A A Hhedd HHGA  HUARIS!

3Te:

Options :

Problem solving

JHEET Giggur

1. %

Reasoning and proof

o 3TOT qurar
2. % a2

Communication

3. %



Connections

SAr=ufy

4. &

Question Number : 116 Question Id : 6981774403 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Arrange the following steps of the project method in a sequential order.

A) Planning the project

Jehedrd THdrateT

B) Creating situation

gRfEerdr [Aar st

C) Reporting the project

Yehodrdl Jgdliel ¢or
D) Explaining the objectives

3Giese TISC 0T

E) Executing the project

Jhod FAifedd IO

ChGDSE‘ fhE‘ COorrect answer.:
I3y 397 f=g=r

Options :

A DBCE

B,D,AEC

B.AE.C.D



AE. D BC
%

Question Number : 117 Question Id : 6981774404 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Match the following concepts to be taught with most suitable teaching

learning material:

fererfaear ST @rellel Heheuar gdld Ale Aeiivie fRreor g siodr:

Concepts TLM
Hehodell HJeiforer fareror wmal
A} Percentages 1. Solid geometrical shapes
Tahar ge SifAfdE 3R
B) Types of triangles 1. Grid paper
[EERIIEREERY [EEREES
C) Number of edges of basic shapes 11, Abacus
D) Decimal numbers 1. Geoboard
G HEAT [EEICIE
Choose the correct answer:
419 34X fHasr:
Options :

A-11, B-1, C-1v, D-11
1. %

A-1n, B-iv. C-1. D-1n
2.

A-i11, B-av, C-11, D
3. %



A-1v. B-m, C-1, D-nn

Question Number : 118 Question Id : 6981774405 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the advantages of the unit plan among the following:

@relierdeh! Jesh Tlofeld BIIC e

A) The unit can be completed withm the allotted time.
Hewh foledl dadd o7 el T3 2Aehd.

B) All the topics in the unit can be taught sequentially.
Hew Al 94 favg FAW fswddr dar.

C\_} We can know which unit is to be taught in which month.

HIVICAT Agedld HIUIT Uedh Rbdrdd § 90T S0 U el

D) The teaching and learning materials required for the unit can be
provided.
Hedh HIO! AT 3elel HeAGe 0T RIFUART Hifged Tael S5 2rehd.

Choose the correct answer:
Ty 397 =asT

Options :

C &1’ D {)1113'

| w P C&D

;—L B (gI C Dlﬂ}'
Tdd A. B& C

A, B& Donly

3 ¢ Hdd A, B& D



ABC&D

Question Number : 119 Question Id : 6981774406 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Read the following statements related to evaluation in mathematics.

AfotcTciter AegaATgarRl Fafed @relier fqume arar.

Statement-I : Assessment for learning and assessment of learning are

involved in continuous comprehensive evaluation.

farerret-| . RV AegAe 3 RIS Hedide § ddd SdeamaRE
AAATIAI J[cielel AT,

Statement-II : Continuous comprehensive evaluation involves formative

assessment and summative assessment.

fererm=t-Il . Wdd GAGHE HedAaAed hidfcey swde 0 gafeeg
F0gHC gaTfase 318d. Choose the correct answer:

ChGDSE‘ the COITect answer:

ey T 9=

Options :

Statement-I 1s false and Statement-I1I 1s true.

- faens-1 3Ty 3 3nfor fAu=-ll Ooc e,

Statement-I 12 true and Statement-II 1s false.

- faer=-1 Icg g 30T f[aurE-l @e 3g.

Both the statements are false.

L . YT R @ s



Both the statements are true.

Ly alegr faue e 3med.

Question Number : 120 Question Id : 6981774407 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If a topic 1s divided into several parts and spread in different classes as per the
difficulty level of the content. then the approach adopted in mathematics

curriculum is:

R 1o T L 11 O e S o o O O s s B e 2 2
FIEVY YADITHN o dIIea GIHE Tl 3i8el, o A0l SFAEHAl
HdciTdelell TSCIpl T

Options :

Topical approach

gEfE Tfeew

Concentric approach

> UMl TiSeahle

Inter disciplinary approach

3w So-RIEdEyas Toéhl

Teacher centred approach

feleTer heId TSCIhieT
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Number of Questions : 30
Number of Questions to be attempted : 30

Section Marks : 30
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Clear Response: Yes
Maximum Instruction Time: 0
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Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 121 Question Id : 6981774408 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The nutrients which are required by the human body in very small quantity

among the following are
AT ARNTC 37cdd AT FAUNT 3MaRdeh 3fcle 9N b Jereie 3ied
Options :

Carbohvdrates

Fdigeh

1. #



Fats

Proteins

_gfee
3. %

Minerals

@fetol

4,

Question Number : 122 Question Id : 6981774409 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
A flower that has both androecium and gynoecium 1s called as
ST BellHEY qHuI 0T Eleielsh glegl 3TEdid Tl Fgurdid
Options:

Incomplete flower

& et
, 3

Unisexual flower

%

Bisexual flower

qu‘:ﬁr



Staminate flower

R e

Question Number : 123 Question Id : 6981774410 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Jams and fruit juices are preserved with
Options :

Salt

Hio

Sugar

2. v I

Honey

HE

(1l

Question Number : 124 Question Id : 6981774411 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



As we go upwards in Troposphere layer of Earth's atmosphere, the temperature
will

SR 39T JedTear aTdaoneT Sraifehadeal oRId a¥ ofdl, d9HTeT

Options :

Increases

N

Decreases

Z_JEmiTgﬁ?r

Bemains same

A Ugd

Constant

- TR
4. ®

Question Number : 125 Question Id : 6981774412 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The first hour after the accident i1s known as

JETdaLEr 9igel drf FgU 3@ Sl
Options :
Critical hour

I ag

1. %



Silver hour

w8 g

Saving hour

dI<dUTHT dIH

Golden hour

gaot aF

4.

Question Number : 126 Question Id : 6981774413 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The future energy resource among the following

gﬁﬂﬂﬁﬁr afasardier FAT Fara=
Options :

Water

Petroleum

wﬁaﬁmﬁ



Natural gas

et arg

Question Number : 127 Question Id : 6981774414 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The largest organ in human body among the following

@refierdehl HAleTd! Rl Fald Al 3aad
Options:

Bone

Small intestine

RGBS R ES

Skin

Question Number : 128 Question Id : 6981774415 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



World Water Dav is held annually on

SR ool fgeT eeadl WS ser siar
Options :

2204 January

22 AT

11t April
11 ufger

2204 Narch

22 A

11t June

11 5@

Question Number : 129 Question Id : 6981774416 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Earthworms breathe through their
S AT g1 JHadaican W@ adid
Options :
Skin

1.4



Gill=
ool

Lenticels

@I 0T

Stomata

4%

Question Number : 130 Question Id : 6981774417 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The plants with fibrous root system have leaves with

Options :

Parallel venation

TATAY AT ST
1. %

Horizontal venation

- aifdsT g sgazen

Beticulate venation

SIGH Tl saaEar
3.%'-3



Branched venation

AMAETdSd =14 4l egaean

E

Question Number : 131 Question Id : 6981774418 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The following disease is caused due to particles of mercury

QAT FUTH @leltel 3T glal
Options :

Minamata

HiATATET
1. %

Pellagra

e
2. %

Diarrhea

-

3. %

Covid-19
Fifd=s-19

Question Number : 132 Question Id : 6981774419 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

Identify the gas caused Bhopal tragedy among the following

@reflerdehl a1 argHs HI9Id gHeal el
Options :

Ammonia

AT

1. %

Hydrogen sulphide

, CISISlT Hehles

Methyl Isocyanide

Jﬁwam@?rmmaa

Sulphur dioxide

ol SI3FaEs
4. %

Question Number : 133 Question Id : 6981774420 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

From among the following. the states that come under the Western Zone of

India are

@reiTert$r, STarear 9ivgd faumnaaa Jondr a8 gd

Options :



Gujarat, Rajasthan, Goa and Maharashtra

1.4

Gujarat, Punjab, Himachal Pradesh and Maharashtra

IeTd, ol fgaATer geer Jfor #gRISe

Maharashtra, Goa. Jammu & Kashmir and Rajasthan

HERISE, T, S 0T FrRAR 0T T
3. %

Maharashtra, Jammu & Kashmir, Rajasthan and Gujarat

. HERICC, STHH, 30T FRAN. TeTTAqT= 0T I

Question Number : 134 Question Id : 6981774421 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the true statement regarding the Longitudes

Options :

There are 90 longitudes on either side of the 0° longitude

0° IWIATEAT Elwgl arsiell 90 I@iel 3

1. %

The 90° East longitude passes through Greenwich

90° qd Y@ier MAfaaa g s
2. %



180° East/West longitude 1s also known as International Date Line

180° 9a/qf2ae JT@RIell HTCRISEIA aiid I9T 3861 F=gurdid
3. ¢

The time difference between two consecutive longitudes 1s 5 minutes

. el gl @ienefier doar v 5 @Afsemr g

Question Number : 135 Question Id : 6981774422 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

From among the following, the two main rivers originated in the Western

Ghats of India are

@relelieh! ARATEdT 9iREe =Ied 3316 ideledl aid HEd dAcar 3ed
Options :

Narmada and Tapt1

SHer 3T aredr

Mahanadi and Godavar:

AR 30T el

Krishna and Narmada

FEUT SITOT e
3. %

4.+



Krishna and Godavar

U 0T IMgrad

Question Number : 136 Question Id : 6981774423 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

These minerals are required approximately in the ratio of 4:2:1 to make steel
qlelle; IR FUAMIS! & Whddol 3igTel 4:2:1 =T YA HILF I,

Options:

Iron-ore. Cooking Coal and Lime Stone

dilg-@ieiol, TaA9ER Hicpan 10T TAT a1
1. ¢

Iron-ore. Manganese and Lime Stone

Cooking Coal, Iron-ore and Manganese

TIATF HlcHHT, dlg-Wisial 0T Haretlar

Aluminum, Iron-ore and Lime stone

Question Number : 137 Question Id : 6981774424 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
During the period of Mahajanapadas. ‘Bhaga’ refers to
AgTae9gedl Fald ‘AR § geifaar

Options :

The share of the farmer that was equal to 5 /6th of the crop

SIde=aTar areT S fOerear S /6 &aT a9 aidl

The share of the king that was equal to 1/ 62 of the crop as tax

zymmﬁﬂwﬁaﬂwwﬁmmm

The amount of tax to be paid to the king by the Grihapathis for

cultivating the land

IEUTGTIAT TSITell ST HRARTA FHIOATHIS! CATd! SRTON el TahH
3. #

The amount of tax collected and repaid to the king by the Gond Patlas

Question Number : 138 Question Id : 6981774425 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

This Mughal Emperor granted Robert Clive the right to rule Bengal

AT FEel FHTCE UdC Fellgegell SaMelal T Foarar AR feer
Options:

Bahadurshah II
1. % S|



Shah Alam IT

oM 3Tt 11
2. %

Jahandar Shah

3, 4 MEEESISEE

Akbar I

Hehay 11
4. ®

Question Number : 139 Question Id : 6981774426 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

From among the following. this turned out to be the first all India struggle

against the British Government although it was largely restricted to cities
@retrertehr, g1 fafeer aerfaseerar afgen 3f@a 9Rd Tuy oer, i ar
AT AR AT gl

Options :

Swadeshi Movement

P ) | [ )

1. %

Vandemataram Movement

deHIAIH dodd
2. %



The Rowlatt Satyagraha

iieie acanE
3. %

The Non Cooperation Movement

TGP TDID
4. %

Question Number : 140 Question Id : 6981774427 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
By the time the British East India Company entered India, the Portuguese

had already established their base in this reglon of west coast of India

farérer S¥ e Fuellel SIRATd 9awr el dradd dicafieiis HRATer qiREH
fehaTaTadler AT AN 9l d@ TAT9 el gld.

Options :

Calicut

1. % E

Mangalore

HITAL
2_23

Bombay

s

3. ®

Goa



Question Number : 141 Question Id : 6981774428 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Among the following, the true statement regarding the State legislative

Council of Telangana 1is

@reilerd<hr, deraonm U= faure afiiscaaad @l faue 3mg
Options :

It consists of 60 members

g 60 TEET 3ed
1_33

The Governor nominates 1/12® members to the State Legislative

Council

TAaTel Uy faere IREGHS! 1/12 &1 HeEadn A Faaor wiaid
2. ®

The State Legislative Assembly elects 1 /3*@ members to the State

legislative council

T AU U f9ure afiiweardr 1 /3 e Has g

3. ¥

The members of the Legislative Council are elected for a term of 5

vears

e ofiwe™ detg 5 aui=ar FHiaada s Hasel arad
4, %

Question Number : 142 Question Id : 6981774429 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

From among the following, the two acts passed by the Government of India

for the protection of Children are

@reflerdehl, 9T HThIe Helledl HIGTUTAIS 9Iild dhelel glel IIer 3ed

Options :

The POCSQ Act, 2012 and the Juvenile Justice Act, 2013
POCSO @raer, 2012 30T a1l =41 Fraar, 2015
W

The POCSO Act, 2012 and the RTI Act. 2005
POCSO spraer, 2012 31T RTI sraer, 2005

The RTI Act, 2005 and the Juvenile Justice Act, 2015
HILETHII e 2005 30T are =01 g, 2015

The RTI Act, 2005 and the Nirbava Aect, 2013
HREB FRGH 2005 30T =@ sragrn 2013

Question Number : 143 Question Id : 6981774430 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Identify the correct sequence of the given temperatures in the ascending

order

Tecdl A Goledl dHEATET AT HH Jioar
(12°C,-16°C,29°C,0°C,1°C, —1°C, —4°C)

Options :

0C, —-1'C,1C,—4C, 12C, =16 C, 29°C

1. ®

—16°C, —4'C, —1°C, 0°C, 1'C, 12°C, 29°C
2. %
- —1°C, —4°Cc, —16°C, 0°C, 1°C, 12°C, 29°C
. 29°C, 12°c, 1°c, 0°c, —1°C, —4°Cc, —16°C

Question Number : 144 Question Id : 6981774431 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In India, ‘Anthyodaya Cards’ are 1ssued to these people

HRATT AT Slihiell ‘G @IS’ Sl hel Silcld
Options :

The poorest of the poor families

1.4

Agricultural Laborers

AaHT
2. % ™



Below Poverty Line people

3wa|ﬁagﬁtﬂ@1ﬁ1?-lma?

Senior Citizens living in the rural areas

n THOT AT TEUIN 4S5 AFTRS

Question Number : 145 Question Id : 6981774432 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
In Telangana EVS text books, the captions like “Look at the picture — think
and say”, “Think and say”, Discussion in groups” represents mainly this
academic standard
deraon EVS wregqEaeaed, < 9gm - fEuR I 300 Fgom, “fam) o

Options :

Conceptual understanding

1% e @H

Questioning and Formulating Hypothesis

g1 Ta9roT 37707 g aa 0T

2. %

Experiments, field observations

- 9T, &1F Hdollchel



Information skills, projects

, AT iRy, 9hed

Question Number : 146 Question Id : 6981774433 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

A year plan for a particular class should be prepared for the remaining

working days by deducting the following

Qe dall % 3dild PR feaaiae! f[aRse aEararer auidr ars=r
daL &dr

Options :

School Working days in the academic year

et auidier Mo FHETE Gag

World environment day

SARTfdes 9T faw

National science day

sy faa fgad

Working days required for Inservice training

» Tar UREETUTEST 99T% HHFE fgdd

Question Number : 147 Question Id : 6981774434 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following activity best suits for teaching “different types of
houses, Post office, Banks™?
“fafaer yaRer 9, 9T i, da Risauarard! @riierddr Homar 39HA 399
Y

Options :

Real Objects Activity
ardfds a&q sharherT

Chart Activity

are Ao

Fieldtrip Activity

Hhleslcd sharhed
v

Picture card Activity

IEEREIERETICTEIE
4. %

Question Number : 148 Question Id : 6981774435 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



“Imagination of the outcomes based on known information™ 1s the learning
indicator of this academie standard.
"Fd Afgcla 3Meniid IRUTAT Fedar § A1 AeTis Ahd R0 gaw

Options:

Experiments and field observations

| S 3 g ey

Formulation of hypothesis

JgIcerrdl ST
2. ¢

Conceptual understanding

33341@31?&?%

Information skills and project works

4 % ATl iy HM0T Jehed FRT

Question Number : 149 Question Id : 6981774436 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Which of the following statements are true related to elements of teaching

learning approach?

@rirerier Fiord faue Risauaran Rievr seudear gearlt dfed sgar

A)

B)

The approach should help children learn how to learn

TfSCaRIeIE Ao F4 R § RIFvas fed e e

The approach should engage children in learning activity
Product skills must be integral part of environmental studies teaching

learning process

I FiNd g1 IHeoiy 3y Risauarear fiemr wfean sfasnsa
LT HEUT 39T g

The approach should be in accordance with children’s individual
differences

ChGDSE‘ the correct answer:

9y 347 =asEr

Options:

L&

|

3.¢

4.

®

ABC&D

A B& Conly
Bdd A B&C

A.B&_‘Dl‘_‘}n]y
%dd A.B& D

B.C&Dﬂnly
%dd B.C& D



Question Number : 150 Question Id : 6981774437 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

This committee in the report stated that school curriculum should be totally

re-organised for sharpening of natural creative abilities of students and to

make teaching meaningful.

I " 3GaTeld 318 Fgeol g ol [deanar JafHE doerRiel eAder
Fell Tifger.

Options :

Yashpal committee

| TR AR

Ishwarbhai patel committee

Seauns geo afadr

Bamakrishna Rao commaittee

3Q1mfwmﬂﬁ‘cﬁ

Kasturi Rangan committee

FEIN LT FiA



